A NNDU N cementy

—_

\/\ \/\Je\owUF(A {:I:D\ I/K

\Perpandtcu\ar = or*”\‘{j““”‘\

2) |
f\/\C\‘HI\ CD\IKOTJU\U’V\ ‘]’ociaj
3__|_4 N C@ .0 U

| (

\\
p—odic numbers



A:




Mirclr\ oﬁ{)s Current Lawd

— —

— J—\;—L’&] o, L the cuirenty

Qlony each eo\fj& ({~ o\mPeﬁess .

— J;ljglj .- ') Qn Q?&\'Cfﬂa\\ CurngN\+

Souvrces ag_SOCfO\\'CJ +o €ach noJﬁ

_ A'—’— QO‘(}Q—-V\OO\Z \ncicente metei X

T I
T [N




W hat 1+ Sa
9s "

\ —
| he @)
C
~mg vifeny Q(
| D OL/\)II(\
o\
nj (\00\2 ‘\S

eZUA\
,..]—
o the Cul(e
Nt

5 lows
bW 1) oot of +he

r\ool& /



(\)O{Q g N o e xternal

current sovrcee

‘E:_Ca’:'u ——‘E) = O

‘COF eNEr «\oo\&-

In $hat Case, I/(;meGC's

C\JFF&I\‘\’ Law ]OCCOJ"\@S

—

)

T, =
B 5
L~

(l




N [”I‘ } _"] (3x3)

We assome NO external

C usfent Soul@s, SO <

e+ At
/—\/\/\ = T = []




}n ff“eﬁ.
N 3@¥
— | | -1 O




bot we heve [nfinitely

r\r\a\r\3 go\u+ibﬂg O(CPendi’\j
On oof C,\/\DiCCS ’Ft:f I]J‘Ia .



Ohms  Law

Q\) Q';J~~ < Qm [esistoace

D\\o'\(s e.al\n QO{ﬂQ (14\ Otmﬂ-

\3 \OD‘J LS b at¥yenry Strenath

0\|Dv\£3 eacln edge ('\f\ ’\J’D“'S)

|_€_—\— R LQ_ -\-\r\e_ AN X M

mo\+ r'\)(

\Q o -~ .~ 0
O‘IZ;O* } Q

OKIW\ @uf\o\\



N - ba
\R Ty [+ A N
_ P I

U L Sl B m

OL\V“\,S L aLd

Note : ’\ﬂ) '\J’a) J’\D\ o oW
Hre electric Pcﬁem\"\o\\g C'\FOHGCQ@)

o+ eacw node - We are
Qssyming  Currend WC\[O\,QS

‘CI‘DN'\ Pa 5‘\3('\\r€ +‘D ﬂe3q+]\re



1L e write

— 1
/_[_; Il] O\HJ

L T
—
b l
Vs QK—A[@
J;m “;" N )
Vi
‘H\(’_r\ gdb'YPaC'\’l‘/\j A f Y /X
n

Lrom  both Sidec of Ohms Law

Oiwes KQ’L’ :\r]




—

% (,\)Ort‘}S/

O\
Curfeatr Yimes (esiStance
1< QQL\JM R A

J(
ol tage



Fir\a\ Look &t EXRMFIQ Y

—

< a 4’""&{‘3_‘ | [
<ol |ine ¢ dhe FoS}—H\r(_ ech
RLocistor . AVAYAY4
o+ KN} B
Ly



R[]0

PR

_1_ (_)’I’)} 13/ ‘\r\ J(\)—l are —he

O]r\r\f\,S [ aw

U(\\&nbu*\S-
149 o O
(S A

L




LD[ = -20 (Sine corrent
{)owS ThewA]
)
J31 -~ 6O -
b = (2D

l/\JQ A—V\Q/\ \/“\O\’\FQ



|40

wa to use o Single

et 1X Yo Solwve +his

’{)[‘DL(Qm7



\/\JQ mMm alke o "\U\‘DQ

matcix  That '\f\COf?O”‘““’S

Lotn  law$ !
X M Mm XA
N — [T ]
r R A L2
T
A—b .L)\Jﬁdo of (\\'Dl
Zeres !
j_ ::;\ d L~
o)
i
- b
£
|

L DA






[he Solution comes

Crom  row - reducing

[ laoo® o730

o [ . -~ | -0
o o3 LTI 239
- -l ) o © N
rre b s

_Go

| D O 00 /§3

s \ 0 00 %53

s 0 | 0 © A

C o o - _,\'&0/53
©o O © 0D



InJe 36—\’
G D
j \ = /53
C
T} _ 30 /5‘3
— 2“"/55

. _\Qo 2
(\rl“/\(—l B /b

—

Ly Qan b-ﬂlj Solve for
(\J_‘ 'lﬂ termg b’g \rg/ Lot

'\—L\\IS }fV'\'-‘\V\(’S sewnse -



/’\nof‘}%el’ E\(O\mple

B

—

—lq

1 /\/\/\ -
AN N %
g VA
V. 0 ez

I




(OL: 30 )\oa,i |0, ng:_JLIIOJ LW: R



Row> redule

O O 3o







